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- provident fund. Mr. Y also contributes equal amount

towards his provident fund.
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(a) Enumerate with reference to section 10 of the

Income Tax Act 1961, five incomes which are

totally exempt from tax. (5)
i b Briefly explain the provisions of computation of
(6)

Annual Value of House Property
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M
r- M (aged 33 years) owns 2 residential house al
¢ a monthly rent

he hous€ s,

Delhi which is let out to Mr. N 2

of
‘Rs. 45,000, Municipal value of t
0. Standard

Rs. 2,20,000 and fair rent is Rs. 450,00
hich

rent is Rs. 4,00,000. Municipal tax is RS- 20,000 w

is paid by Mr. N. Mr. M has taken a loan for

construction of the house and interest for the ﬁﬂ3n0ia]

year 2022-23 is.Rs. 2,50,000.

Mr. M had received a Plot as gift from his mother on
6 which was purchased by her on 31*
0. M sold this Land on
0,000. Mr.

purchased REC Bonds on 15th Decenibar‘“ZG’i‘Z

15t January, 201
December 2000 for Rs. 2,20,00
Ist November 2022 for Rs. 11,0

Rs. 3,00,000.

His income from savings bank

calculate his total income

. 2023-24, assuming he opts
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(b) Briefly explain the case ©

N . , :
(a) (i) Mr. X is running a business of wholesale §&. p1 Income Tas,

medicines, during financial year 2022-23. He - Beferfers ot wRaafa
urchased medici | ‘ 4 " g
P ed medicines from his brother’s shop 2 S s
| N F wE A FE ; il
for Rs. 2,10,000, however, same goods could , AR
have been purchased from market for | “ el |
for 37 T 4

Rs. 1,90,000.

Briefly explain the admissiﬁility of this
purchase expense. ERTR T O | '
"_ m
(i) Mr. Y is having a business of property dealer. i e . ~ -
e by | (@ @ # X ficd 7t 202223 B A des o
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He generally pays salary to his §

x5 2

account paying cheques. In the month of June
2022, he received a commission of Rs. 1,00,000

in cash and he paid following salaries to his

staff Mrs. Rita Rs. 11,000,‘ Mr. Navin

ST SRR
- ;

Rs 15,000, Mr. Vinod Rs 10,000 all in cash.

Explain briefly the admissibility of theses
c o F

salaries.
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LULICE qIF 3 Depreciation
e § T B T 2022 WE Remuneration to
_#. 3% Partners
) 6T 1,00,000 T FT FAIA T T A-197,500
B - 197,500
33'( : . i Interest on capital | 65,000
IR S A sfeR Fa A 1,000 e
T, X T @ 15,000 TR, N FR B Net profit 54765
11,55,000
10,000 TR =&e ¥ Ryl g7 Aql A Wb 133,00
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Other information :
q) wew i A ,000
(@) FUT T ST R @ A T G A () Out of expenses of Rs. 375,000, R: 55
GHEATER : | is not deductible.
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(ii) Depreciation as Pl sect

o5 (a).A and B.are.t ' '
(a) re two partners in a firm AB Ltd. Rs. 2,55,000.

pital to partners, not

sharing profits & losses equally. The firm satisfies
tion 40(b) is Rs. 15,500.

all conditions of section 184 and 40(b) The Profit (i) L
deductible under €€

¢ AB Ltd for
(8)

& Loss for the year ending March 31, 2023 is as
. Calculate taxable income O

follows : ,
| the assessment year 2023-24.
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He received RS. 7,00,000 as salary, Rs. 65,000 as -". B0 375,000
: f it B - T
interest on capital and Rs. 2,35,000 sh‘a.re of profit :: e 7
from XY Ltd. Briefly explain the taxability of these et @t
incomes for Mr. X, assuming conditions of section | ;‘ﬁ 97,500 5o
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